H #i# B

BfEHA . A0 34 2H21H (H) B8 MY — BRI
Bk FHEE N T ¢ BR ZIMAEL TTAN (k66 A - &t 11AN)
HDCP E R :
a— ouT IN 1/ 2
FIERCRE © 7 a2 UNSWIE) - Ef (K& WIE) FIRI . 4Fn 34 2A21H (A)
JIE 57 2 INE 4 OUT IN GROSS | HDCP NET it &

1A | R KE 47 49 96 31.0 65.0 EAHY

2 L | fBA IE 42 49 91 22.0 69.0 EADY

307 | )R Yz 49 52 101 31.0 70.0 | EAHY

4 7 | Gk 1= 46 48 94 22.0 72.0 |HAEY

5 1 | %578 NIEF] 47 48 95 23.0 72.0 |EAY

6 7 | =4 e 50 46 96 24. 0 72.0 | HAY

7T 0L | R FEEE 47 49 96 22.0 74.0 | HAY

8 . Wbl &3 48 51 99 25.0 74.0

9 Nr | UTAE ARE 50 53 103 29. 0 74.0

10 A7 |V H B8 53 54 107 33.0 74.0

11 A7 | B R ERES 49 48 97 22.0 75.0

12 A7 | 4B 7 49 48 97 21.0 76.0

13 fif | Gl AP 54 48 102 26.0 76.0

14 A7 | 1L & 50 46 96 19.0 77.0

15 7 |[fEjE B— 51 48 99 22.0 77.0

16 A7 |INH 3L 52 50 102 25.0 77.0

17 7 | Fibfer ZRBE 55 50 105 28.0 77.0

18 A7 |PFEH FHH 53 54 107 30.0 77.0

19 7 |5l — =% 52 55 107 30. 0 77.0

20 {7 | s & 57 41 98 20. 0 78.0

21 AL | RFT iR 54 45 99 21.0 78.0

22 fir | & &R 49 50 99 21.0 78.0

23 {7 | B85 B 56 50 106 28. 0 78.0

24 i | B0 PEF] 56 51 107 29.0 78.0

25 Ar | K EE 52 56 108 30.0 78.0

26 AL | =J# H7Z 56 55 111 33.0 78.0

27 7 | SEH 47 51 98 19.0 79.0

28 AL | &1 1E 51 50 101 22.0 79.0

29 A7 [/NI] Fies 48 53 101 22.0 79.0

30 i | g FiR 50 52 102 23.0 79.0

31 /7 | I & 54 55 109 30. 0 79.0

32 fiL | M BLF 56 56 112 33.0 79.0

33 L | Ki% & 54 61 115 36.0 79.0

34 7 | 1A fit 58 57 115 36.0 79.0

35 iz | TH #h 52 51 103 23.0 80.0

36 fif |l # 5 53 50 103 23.0 80.0

37 fif | R = 55 49 104 24. 0 80.0

38 fir | =l = 57 57 114 34.0 80.0

39 fi7 |iH B5— 57 59 116 36.0 80.0

40 A [ /NI HF3C 52 49 101 20. 0 81.0

41 i1 | JLHL 255 50 54 104 23.0 81.0

42 {r | ik FEBL 54 52 106 25.0 81.0

43 AL | FaAS IE 58 50 108 27.0 81.0

44 {r | PRt PRAR 52 49 101 19.0 82.0

45 I | KR BES 53 50 103 21.0 82.0

46 {ir | 5% FEAT 54 53 107 25.0 82.0

47 fr | HEp 55 58 113 31.0 82.0

0 0

48 I | KT EAE 55 51 106 23. 83.




H #i# B

BfEHA . A0 34 2H21H (H) B8 MY — BRI
Bk BN T ¢ B SN TTAN (k66 A - &t 11AN)
HDCP E R :
T—R OUT IN 2/ 2
FNERZHE © 27 m X UNSWIE)  « FE# (K& WIE) FIRI . 4Fn 34 2A21H (A)
JIE 57 S NE 4 OUT IN GROSS | HDCP NET fiti &

49 {7 | KM F72 53 54 107 24. 0 83.0

50 N7 | /MR By 52 60 112 | 29.0 83. 0

51 fif | =% —i# 53 51 104 20. 0 84.0

52 L | BEAS i1 55 51 106 22.0 84.0

53 . | A FEZ 51 63 114 30.0 84.0

54 i | Rk % 50 57 107 22.0 85. 0

55 1\, | Fit- 59 51 110 25.0 85. 0

56 1. | fpAS delid 60 52 112 27.0 85.0

57 L | [ $F 56 65 121 36.0 85.0

58 I\ | A fHAH 56 49 105 19.0 86. 0

59 i | AR A 52 57 109 23.0 86. 0

60 A7 | AR KES 57 58 115 29.0 86.0

61 A7 | /INATJR ] 54 52 106 19.0 87.0

62 {if | Bl FLR 53 55 108 21.0 87.0

63 N7 | =i 254 55 57 112 25.0 87.0

64 iz | R B2 51 65 116 29.0 87.0

65 AL | A Fnds 54 55 109 21.0 88.0

66 I\ | =% BEME 66 59 125 36.0 89.0

67 {7 | /NE 62 64 126 36.0 90.0

68 N |t 4 56 54 110 19.0 91.0

69 L | ik 1% 66 51 117 26.0 91.0

70 fL | VEiE AR 62 55 117 24.0 93.0

71 | A RS 61 58 119 25.0 94. 0

72 O | EH 63 59 122 28.0 94. 0

73 AL R KR 71 60 131 36.0 95.0

74 AL | =aE SEH 71 70 141 36.0 | 105.0

75 L | W OEEET 63 69 132 26.0 | 106.0

76 i | ik & 59 75 134 27.0 | 107.0

7T AL R kT 72 83 155 36.0 | 119.0




